CHAPTER 9 - Selected Answers “Evens” 
          p.1
Section 9.1 (p.502)

2. positive or principal square root, negative square root, plus or minus square root
4. 9  6. 
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  8. rational  10. rational  12. 2.41, -.41  14. 5.65, 0.35  16. ‘The principal square root of 625 is 25.’  18. ‘Plus or minus the square root of 4 equals plus or minus 2.’ 

20. ‘The negative square root of 121 is negative 11.’  22. ‘The square root of 49 is 7.’ (We get tired of saying principal or positive square root everytime!) 24. “The principal square root of one-ninth is one-third.’  26. 
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5  28. 
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30  30. 0  32. –10  34. –15  36. 17  38. 
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40. –25  42. yes  44. no  46. yes  48. yes  50. yes  52. no  54. 5  56. –11.18  58. 
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60. 3.16  62. –20  64. 
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12  66. 8  68. 15  70. 0  72. 5  74. 8  76. 10.66, -6.66  

78. 3.00, -2.66  80. 8.06, -4.06  82. 2.99, -1.49  84. yes  86. True; for example the square roots of 25 are 
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5.  88. True; any negative number has no real square root. That is, no real number squared can equal a negative number.  90. B  92. C  94. (4,-3)  96. (5,0)  

98. 5 irises and 10 lilies  100. (-2,2)  102. 0.75  104. 
[image: image8.wmf]0.54

  106. 
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  110. 0.625 

112. 0.6     
Section 9.2 (p.508)

2. 7x2 – 3x – 12 = 0, 7  4. 1  6. 1  8. 0  10. no real solution (empty set or 
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)  12. 
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14. 
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  16. 3.2 sec  18. 
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  20. 
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  22. 
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  24. empty set  26. 
[image: image17.wmf]39

±

  28. 0  

30. 
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  32. empty set  34. 
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  40. 
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  42. empty set  44. 
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46. 
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 56. True; for example a negative number has no square root that’s a real number. (Algebra 2 will deal with imaginary numbers.) 58. False; the solution is 0.  60. 2.4 sec  62. 0.19 mm  64. .12mm  66. .05mm
68. about 1880  70.G  72. 15  74. -1  76. -4, 5  78. 
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  80. x < -7  82. 
[image: image30.wmf]5

x

£

 

84. 
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  88. ½   90. 5/8  92. ½  94. 4/5  
Section 9.3 (p.514)
2. No; there’s a fraction in the radical.  4. No; there’s a radical in the denominator.

6. C  8. A  
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 18. No; 20 is divisible by the perfect square, 4.
20. No; there’s a fraction in the radicand (inside the radical).  22. 
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46. 
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[image: image46.wmf]210

5

  60. 90

62. 
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  84. 60  86. -3  88. B  90. D
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92. [image: image58.jpg]


   94. [image: image59.jpg]


  

96. 100,000  98. -125x3  100. a6b6  102. 81m4n4  104. D = All Reals, R: y > 0  

106. 1/8  108. 
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Section 9.4 (p.523) 
2. a parabola  4. up  6. down  8. down  
10. x = 0 [image: image63.jpg]


  12. x =3 [image: image64.jpg]


 
14. x = 2  [image: image65.jpg]


  16. down  18. up  20. up  22. down  
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36. [image: image71.jpg]
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40. [image: image73.jpg]


 42. [image: image74.jpg]


 44. [image: image75.jpg]



46. (5,5) The peak of the dolphin’s jump is 5ft high and 5ft horizontally.  48. 21.4 ft  

50. [image: image76.jpg]


 52. B  54. B  56. [image: image77.jpg]


 
58. 47  60. x12  62. t4  64. 56  66. 
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Section 9.5 (p.529)
2. Graph the function, y = ax2 + bx + c and check to see if the x-intercepts of the graph match the roots of the equation:  ax2 + bx + c = 0.  4. C  6. 
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12. 4x2 – 12 = 0  14. x2 + 15 = 0  16. x2 – 2x + 1 = 0  18. 1, 2  20. -2, 4  22. -3, 1

24. -1, 4  26. -2, 1  28. -3, 4  30. -2, 1  32. -1, 5  34. 
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Section 9.6 (p.536)

2. The solutions of the equation will be the x-intercepts of the graph of the function.
4. x2 – 1 = 0, a = 1, b = 0, c = -1  6. x2 – 13x + 42 = 0, a = 1, b = -13, c = 42

8. -3, 5  10. 
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  14. 2x2 + 3x + 1 = 0, -1, -1/2  

16. 2x2 – 14x – 36 = 0, -2, 9  18. 4x2 + 4x + 1 = 0, -1/2  20. 2t2 – 8 = 0, a = 2, b = 0, c = -8

22. 3x2 – 27x = 0, a = 3, b = -27, c = 0  24. 4m2 + 28m – 32 = 0, a = 4, b = 28, c = –32

26. 
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 28. 25  30. 49  32. 1  34. 24  26. 132  38. 41  

40. ¼, 3  42. -1, -1/7  44. 0.39, 1.27  46. -.89, .14  48. ½, 1  50. x2 + 3x + 2 = 0, -1, -2

52. 2x2 – 5x – 7 = 0, 
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  54. x2 + x – 2 = 0, -2, 1  56. 2x2 – 6x + 4 = 0, 1,2

58. -2, 3  60, 3, 8  62. 
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  66. 5/3, 4  68. 2.38 sec  70. 2.20 sec 

72. 1.25 sec  74. 1.5 sec  76. 1.7 sec  78. 0.8 sec  80. on Earth; sample answer: It would take about 18.6 sec on the moon or 3.2 sec on Earth.  82. G  84. H  86. -20  88. -54 

90. y = x + 7 [image: image96.jpg]
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94. x > 16 [image: image99.jpg]94.
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  96. >   98. >   100. <   

Section 9.7 (p.543)

2. the number of solutions  4. no real solution  6. two solutions  8. C  10. 0  12. 1 

14. 132  16. 249  18. 204  20. 9  22. two  24. two  26. none  28. one  30. none  32. one 

34. 42 – 4(3)(-2) = 16 + 24 = 40  36. two  38. 2  40. 1  42. 2  44. B  46. A  48. yes 

50. Sample Answer: Is it possible for h = -16t2 + 12t + 0 = 2.2 feet? The discriminant is greater than zero, so there are two solutions. Yes, you can dunk the ball.

52. G  54. -2 < x < 4  [image: image100.jpg]54.
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Section 9.8 (p.550)
2. false  4. inside  6. (1,1), no; (0,-4), yes  8. (1,1), yes; (-1,1), no 

10. [image: image103.jpg]


12. [image: image104.jpg]


14. [image: image105.jpg]



16. yes  18. yes  20. yes  22. inside  24. outside  26. Always  28. Always  30. C 

32. [image: image106.jpg]Ve oZin



 34. [image: image107.jpg]


 36. [image: image108.jpg]



38. B  40. B  42. y = -6x  44. y = 4x  46. y = -12x 

48.[image: image109.jpg]


 50.[image: image110.jpg]
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Chapter 9 Summary and Review (p.553)
2. 12  4. -5  6. 
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16. 1, 2  18. 3, -1  20. 2, -3/2  22. one solution  24. no real solution  26. 2  

28. [image: image124.jpg]


  30. [image: image125.jpg]



Chapter 9 Test (p.557)

1. 8  2. -5  3. 
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  4. -10  5. 
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  7. 
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  9. 
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  10. no real solution

11. 
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  12. no real solution  13. 
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  14. 2  15. 
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  17. C  18. A  19. B

20. 
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 21. 5, 2[image: image138.jpg]


 22. 3, 1 [image: image139.jpg]



23. 9, -3  24. 5, -2  25. 1, -7/3  26. -23; no solution  27. 0; one solution  28. 124; 2 solutions 

29. [image: image140.jpg]


 30. [image: image141.jpg]y=—x2+5x—4



 31. [image: image142.jpg]B+ Ix+6





32. about 1.12 sec 33. about 2.40 sec

Chapter 9 Standardized Test (p.558)

1. D  2. C  3. A  4. D  5. E  6. A  7. B  8. A  9. C  10. D  11. A

Maintaining Skills (p.559)

2. 12x + 8  4. 48c – 40  6. -72t – 60   8. 30c – 17d  10. 10x – 20   
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p.7
Cumulative Practice – Chapters 1-9 (p.560)

2. Yes. There is only one output for each input. 4. -22r – 13  6. 14 + 5t  8. 36  10. 80% 

12. 8; 4  14. 
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  18. No; slopes are not equal.  20. Yes; slopes are equal. 
22. 
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  24. y = 5x – 12  26. y = 4x – 30  28. 2x – 6y = -4  30. 2x – 3y = 3 

32. -4x + 5y = 25  34. c < 11  36. 
[image: image146.wmf]27

2

x

<

  38. 
[image: image147.wmf]10

x

£-

  40. a < 3  42. (12, -3)  44. 
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46. (-5, 0)  48. 5 green peppers, 8 red peppers  

50. [image: image149.jpg]
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54. c20  56. -75  58. 
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84. [image: image163.jpg]


  86. 2.5 sec



60. 0.56


62. .00015


64. .000024





54. G  56. � EMBED Equation.DSMT4  ���, one  58. same line (infinite solutions)


60. (-2,2), one  62. 6  64. 3  66. -1  68. 8  


70. � EMBED Equation.DSMT4  ���  72. � EMBED Equation.DSMT4  ���  74. � EMBED Equation.DSMT4  ���  76. � EMBED Equation.DSMT4  ��� 


78. =   80. <   82. =   84. <
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